ANNUAL EXAMINATION 2015-16
SUB: Maths (7Tf0r)
Class : VII

Time : 3 Hrs. MM: 100

SECTION — A (8 — 9)
9.1 Short solution (¢Tg] I) 10

1. Solveit (BT El'ﬁ)
(a) %f yland (2x* + 6y? ()  [2m+(n)]|[-3m+(=5)]

2. Find value of x (x &T A ST M)
(a) 2x(3x+5)=22 (b) S5x—-2=3x—-4

3. If the diameter of a circle is 12cm, what will be its radius.

(Th g BT A 12 WA B, df IAD! AT fbal grfl?)
4. Find the volume of a cube (&7 T 3T STd)

(a) 3.5cm (b) Sm.

5. Find the factor of (?ZIET NERICECESI PHIFTY)
9xy®,9xy’z,18x° y’

Q1to Q.10 (3x10=30)

1. Find the surface area of a cuboid whose length breadth and height are respectivelly 10cm

8cm and Scm?

Uh G B oIFTs 1099, diels 8 WAL IR AR 5 WAL | °AM & g
SFH ST HIFTY |
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10.

91

Solve (8T &)

0.16(5x—2)=0.4x +7

Simplify (ARl &)

(7y2)>< (%azyzjx(&lzxs)
2x>Bxy+42)+5y>(3z° +y?)

If 8x = 35” — 27% Find the value of a

3R 8x =35" 27" dl a <l HM I BN |
Factorize using Ideates (Q:IER:I HBHI3N BT SUANT B OIS =1d CAINIY

3617 +m* +12im—25n"

Draw a circle of Radius 7.5 cm.

g @1 FRETT ISy fSgat Boar 7.5 991 87

Find the Area of Rectangle whose length = 8cm and Breadth is 9 m.

AT BT &Fhol ST BISTY ORI oIS = 8 JHI. dT dies 9 91 2|

A cubical solid wooden block contain 36 cm’ wood. If its length and breadth are

respectively 4 cm and 3 cm. Find the height.

TP TR SN bl & Shs H 36 U ddl B IR SHD) aHNE 4 W
IR dIeTs 3 W B d S $HdTs T HIFY |

Subtract (GICTS)

3x* +5and2x—4

Long Solution (E¥wR™)  (4x5=20)

Simplify (8 &)

%x2(2x+3)+102(x—y)+13(2x—y)
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9.2. The sum of two consecutive odd number is 88. Find the number.
ST ST a9 SRRt BT ANT 88 ® | Al ATV ST BIfvIY |
9.3. A rectangular park is 90cm long and 75m wide. A path 5m wide is to be build outside
around it. Find the area of the path.
TP JMAATHR 9T 90HI. ¥ T 3R 75 #HI. drel 8, SH® 918} dR| IR Ud 54,
AT IRAT IT BT 2 | KT BT &AB A DI |
9.4  The number of bulbs sold by a shopkeeper in six consecutive days is as follows.
U GHMGR §R1 B HANT &l § 99 Y godll Bl HT 59 UDR 7 |
fa=1 RMIIR | HaR | HTaR | R THAR | YehaR
(Days) (Sunday) | (Monday) | (Tuesday) | (Wednesday) | (Thursday) | (Friday)
o9 T gedl Pl e 55 32 30 25 10 20
(No. of bulbs sold)
Draw a graph to represent the above information.
9 AT Bl T Il gRT i B |
95. A match box measure 4cm x2.5 cm x 1.5 cm what will be the volume of a packet
containing.
Th T @ fSafl & A1 4 9 X 25 9 X 15 9 B U 12 fSfeat ara
U Ude &1 ATIa-d FaT BRTT?
SECTION - B (@vs— §) (6x2 =12)
9.1 Fill in the blanks (@Tell I X))

1. Volumeofacubeis ...cccoooevevvvnnnnen.n.
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JTEFgeT H G BIT TP oo Il € |
Q.2 Define (TR9INT &)
(a) Diameter (IT9) (b)  Volume (&)
Choose the appropriate option 2x4=8

Q3

|l fdmed gady fofay |
(1) Diameter of a circle is @c—d BT AT B )
(a) Minor arc (cTg <T9) (b) Major arc (éTEf 79)

(@) Chord (S{rd)

(d)  The longest chord of the circle (I @1 Hald TSI Sild)
(2) The number of axes of symmetry for a square is
frdl a7l & FfAcdT & el a1 dwar Bl 2 |
(@) 4 () 3 (c) 4 (d 1

(3) If the side of a cube is doubled, its volume will be

T & B YT DI G B TR IFD] IATIAT BRI

(a)  Double (g7 (b) Three times (fcT)

(©) Four time (AR ) (d) Eight times (313 T
(4) The surface area of a cuboid is (ST &I KT &%l BT 8)

(a) (ib+bh+ hi) (b) 2(ib+bh+hi)

(c) lhb (d) 2(+b)xh

C))
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